ZI1-903 UMRECHNUNGEN

1 mm = 0,039 in
lin =254 mm
1m=3,28ft
1ft=0,30m

1cm2 =0,16in2
1in2 = 6,45 cm2
1 m2=10,76 ft2
1ft2 = 0,092 m2

1 m3 = 35,32 ft3

1 ft3 = 0,028 m3
11=0,26 US gal

1 US gal = 3,79 liters
1g=0,0350z
10z=473,5¢g

1kg =2,21lbs

11b =0,45 kg

°C = (°F - 32) x 5/9
°F = (°C x 9/5) + 32

1 km/h = 0,28 m/s

1 m/s = 3,6 km/h

1 ft/min = 0,3 m/min
1 m/min = 3,28 ft/min

100 Pa = 10 mm w.g.
100 Pa = 0,39 in w.g.
1in w.g. = 25,4 mm w.g.
1in w.g. = 254 Pa

1 Pa = 0,01 Millibar

1 N=0,102 kg
1kg=981N

1000 Pa = 0,01 Bar
1000 Pa = 1000 N/m2
1000 Pa = 4,015 in w.g
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